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Goal Setting with ROI
(rate of improvement)

1. Find the ROI for the 50th percentile for the 
student's grade.

2. In order to close the achievement gap, 
multiply that ROI by 1.5  

x 1.5

3. Multiply the new ROI by the number of 
weeks they have to reach the goal (a full year 
is usually about 35 weeks)

x _____

4. This is the expected gain in the 
student's score.  You may need to round.

5. Add this gain to the student's 
benchmark score to get the goal. + __________ benchmark

no of weeks

6. GOAL
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